
 TM    23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016  
 

www.cobrausa.com 

03/11
   TM 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safe ly. 

Items Supplied > 

1 – Chrome Radiator Cover 
2 – Screw, M6 X 35mm Buttonhead Stainless 
2 – Spacer, Aluminum 
1 - Double Sided Tape, (Installed on Chrome  
   Radiator Cover) 

Application(s) > 

Honda VT1300 CR/CS/CT 2010 - 2014 

Instruction Manual > 

Read all instructions carefully before installing your new Cobra product! 

1. Remove the (2) M6 Socket Head screws 
securing the stock radiator cover, these will 
not be reused. 

2. Clean the top of the stock plastic radiator 
cover with rubbing alcohol to remove any oil 
or dirt that may be on the surface and 
prevent the double side adhesive tape from 
sticking, see Figure 1. 

3.  Remove the paper backing from the double 
sided tape that is on the inner side of the 
chrome radiator cover. 

3. Position the new chrome radiator cover over 
the plastic radiator starting at the top and 
rotate the bottom into place.  This will allow 
the double sided tape to position itself 
properly .  One supplied spacer will be 
placed between the stock plastic cover and 
each hole in the chrome cover, Figure 2.  
Insert one M6 x 35mm buttonhead screw 
into chrome radiator cover, supplied spacer, 
stock plastic cover and threaded tab on 
frame, but do not tighten fully.  Repeat this 
for each hole in the chrome cover, there is a 
total of two positions.  

4. Align the radiator cover with the frame down 
tubes to the left and right side of it and 
tighten the screws to factory specifications 
firmly. 

 

 

 

  

NOTE:  If you have already installed a Cobra freeway bar, please remove it to allow installation of the 
radiator cover.  Once you have installed the radiator cover reinstall the freeway bar and torque 
fasteners to factory specifications. 

 

 

 05-9334 Page 1 of 1 

 

DOCUMENT NO.  0017 REV. B
 

   
  FIGURE 1 

  
 

  FIGURE 2 

Chrome Radiator  
Cover 

Stock Plastic 
Radiator 
Cover 

Rotate into 
position  
from top to 
bottom 

M6 x 35 mm 
Buttonhead 
Screws, 2 
locations 

Supplied 
Aluminum 
Spacer, 2 
locations 

Double Sided 
Tape 

Clean top of 
plastic  with 
alcohol 

Stock Plastic 
Radiator Cover 


